Name %’{/’ Date Hour

d
9.4 = Common Logarithms Y"Qz 7
Alg 2 Trig G-day 2 \-"—'%
\_ﬁca
PRACTICE!

Use a calculator to evaluate the expression to 4 decimal places.

1. log 39 2. log 0.003 3. log 5.8
5911 ~4.9229
a. log (—100) 5. |09 6. log 120
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7. Solve the logarithmic eguation:

An equation for loudness (L) in decibels is given by L=10e Iog R|, where R is the sound’s relative

intensity. An air-raid siren can reach 150 decibels and jet engine noise can reach 120 decibels. How many
times greater is the relative intensity of the air-raid siren than that of the jet engine noise?
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Solve the equation using logs (and your calculator!)

5. 5" =120 0. 6 = 456 y
| 00 %x"log 120 \oq (" = \og 5.
’ (oj 5+ log 120 - \og e \06\422
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log n
log, n=——
Remember a Iog a

Express each in terms of common logs. Then approximate its value to four
decimal places.

2%.
10. log,, 200 100, 200 11. log, 285 \/Dc%—qﬁ
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Solve each equation or inequality.

12. 4 =12 13. 5% =120
3y - log 4= l0g 12 (4x-2)- log 6 < log 120
3=\ 1925 Yx-2= 2. M40
14. 6.57 >200 15. 777 >21
7% log (w@zloﬁ 200 63\4'\\)(0{\7 >’\°‘32\
3x-\ 2 |. 5640
inlf?: IxzZ 2.5bHb
rﬁ\ vz 0.9549
16. 2.4°* =30 17. 3.6%*=85.4
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